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Please check that this question paper contains 12 printed pages and
2 pages of maps.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

eiRa a7 : 3 o2

Time allowed : 3 hours
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GEOGRAPHY (Theory)

37TEIHaH 37 - 70
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(ii)
(iii)
(iv)
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(vi)

(vii)

(viii)
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I 40 Frs5l @ 3718 787 &7 =Y |

o7 &I 8 13 TY-IT0T Fo7 8 | JAF 7 3 b FT 8 | IAH T H
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3T9H! 17U T v dour YRA F JGT-TrfEl B IW-YiaHT & AT T
|
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g/

General Instructions :

(1)
(it)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 8 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A

1. 9RdH ‘91g YU % fohegl 3 TqE Gidi i 3g@ hHifg | 1.1
2
HAYAT
R § 9 TGN % fohedl & @ Gl 1 3g@ Hi | 1,1_
Mention any two major sources of ‘air pollution’ in India.

OR

Mention any two major sources of ‘land pollution’ in India.

2. OHd faw@ & ged °§ ‘guar’ ki Heheud1 il @ hifsru | 1
Examine the concept of ‘Equity’ with reference to Human Development.

8. A I AME o gEehie (W1.19.9,) # var= TUH w7 2 T HIT | 1

Explain why Kerala has recorded the highest value in the Human
Development Index (H.D.I.).

4. HOR # yEfivr SfeqE o e o eRe % ® 9 ° g % wed h W@
T | 1

Examine the significance of ‘Land’ as a locational factor for rural
settlements in the world.

5.  qEER weg o aiedrn fafe | 1
HAAT
‘Bt AR 31eg 1 g fefgu | 1
Define the term ‘telecommunication’.
OR
Define the term ‘retail trading’.
6. ‘uifcass @S 3R ‘stunfeaes @i’ 1 weh-ush Iergwor fafigu | é+é=1
AT
die WS 3T "37elle WS ol Th-Teh 36l Tty | é+é=1

Write one example each of ‘metallic mineral’ and ‘non-metallic mineral’.
OR

Write one example each of ‘ferrous mineral’ and ‘non-ferrous mineral’.

7. Y FEA B THHEI] U % Th HgqUl Yah o €9 § TR FHR M
SITAT 8 ? Teh SR T I | 1

How is the age structure known as an important indicator of population
composition ? Explain one reason.

641512 3 PTO.
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SECTION B

8. = fdu U @ *1 AEgHIgES A HINT R 3Feh A= U 7Tyt
I TR 1+1+1=3

(8.1)  3° IHT 1 91 oy, 9 W 97 399 o9+ fooa 2 |

(8.2) 39 ITUTG TIF hl WIG-3TIEh ! AT H AT TAB-3TIEh hl @HI
1 3@ HINT |

(8.3) 39 THUIG HIA I Wk MY(d i Tt a9 I8 1 A9 ARGy |



Study the following diagram carefully and answer the questions that
follow :

Bhilai Steel Plant

Bilaspur

Balaghat

Mahanadi River

/Z
.Jk{
e 2
PE——
e Y Steel Plant
Dalli Rajhara Hills Ed. Dalomite
| ok DManganese
A y Iron-Ore
'{/ T Coal
Tank Iron
s Railway Line
-1
(8.1) Name the railway route on which this steel plant is located.
(8.2) Mention the iron-ore mines which supply iron-ore to this steel

plant.

(8.3) Name the thermal power station supplying power to this steel
plant.

Fie :  HicIad g9 FacT gieETaT ghgntaEt & 077, 397 G&r8 & T W

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 :

‘TR FTATd GIF hi foheal o fariwarsti st wuse Fhifsy | I1x3=3
Explain any three features of ‘Bokaro Steel plant’.




mi
9. UNd § T afeqdi S fohegl oA fommyansti o1 auia i | 1x3=3
HAAT
A § TJfesd T afeai 6l fohmal A fomiwansti &1 avi i | 1x3=3
Describe any three features of urban settlements in India.
OR

Describe any three features of clustered rural settlements in India.

10. “ggl 7 @ fara smavaear $i feufd (vafarefia fvegarg) 2 s 7 & fa
T (T9aaTE) i a3 2 |7 30 FTILURON T IS0 Afgd fageivor hifvr | 3

HAYAT

“onfen T o foru wifae w@feer ‘wRfa AT 7 17 39 weH W1 fawcw
HITSTT | 3

“There is neither a situation of absolute necessity (environmental
determinism) nor is there a condition of absolute freedom (possibilism).”
Analyse this concept with example.

OR
“The physical environment for primitive societies becomes ‘Mother

Nature’.” Analyse the statement.

11. 3™ 3T Tqed gH1 TIH T Yard o AT giomdt it @ Hhifre | 3

Examine the economic consequences of migration for both, the places of

origin and destination.



12. = U 7T 96 1 AEgHEIgEs A HIT R 39 = T T Sl %
I feifa 1+1+1=3

Teroa =T "1 =i, 2005 - 2015
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(12.1) Tpg a9 § Fa =T AT | Tattees faia fogmn mn g 2
(12.2) Tord a9 ¥ faffia # =1 ffa w@9 =9 o1 2

(12.3) 2011 & 2014 T Y ICAGI I ol AT IH: THH =T & 2

641512 7 PTO.



Study the graph given below carefully and answer the questions that
follow :

World merchandise exports, 2005 - 2015
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(12.1)  Which year has shown the highest export of total merdandise ?
(12.2)  In which year was the export of manufactured goods lowest ?

(12.3) Why has the total export of agricultural products remained
almost the same from 2011 to 2014 ?

Fie :  FHEICTRIT F97 FIT FIBFTIAT GO & 1079, 97 &I 12 & TIH W E -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

FASE AR & fehegl 9 3Mari Y smean $ifs | 1x3=3

Explain any three bases of international trade.

13. YA & ‘91918 o 6l sy hifay | 3

Explain the ‘linguistic composition’ of India.



14.

15.

16.

17.

18.

WU
SECTION C

“Siferehia TshHvT figid o1 IUENT foRet & < SHEwET o 9uH et wiasy i
SEEAT % qAEH o fIu R <1 Tehar 2 17 39 e 1 favermu Hifv | 5

“Demographic transition theory can be used to describe and predict the
future population.” Analyse the statement.

R U I hl afa w1 gwifod @ 9 Tl 99 SeRl Rl W

Eﬁ”:_ﬂQ | I1x5=5
AT

gOR 1 ‘Toese A 6 foral ute feiwarst < ww@ hifse | Ix5=5

Examine any five factors that influence the location of industries in the
world.

OR
Examine any five characteristics of ‘Footloose Industries’ in the world.

“ara # v ft @1 e T TR wEen 7 17 3gen afgd e
HIT | Ix5=5

“Degradation of cultivable land is a serious problem in India.” Explain
with examples.

W @R T8 % HE % [heal qid forg3l 1 auiH iy | Ix5=5

Describe any five points of significance of the ‘Suez Shipping Canal’.

TreTg TR hIcTehTdl TaHl <l GorT 3eh! fedrfd, goe wewr iR fova =amam & 3
wETel o Fed U HIfWT | 1+1+3=5

HAYAT
HHMSAT 3R faemamae™ Tqgl gaqi i o 3eh! feufd, Ioe wew iR fova
TR | 37eh HE< o HeH H hIfWT | 1+1+3=5

Compare Mumbai and Kolkata sea ports on the basis of location,
hinterland and their significance in world trade.

OR

Compare Marmagao and Vishakapatnam sea ports on the basis of
location, hinterland and their significance in world trade.

641512 9 PTO.



19. YR § S HETEHT 1 WU R YU AAEITS FA g ? A FETEHT
LI o f7U 331U U foReal i shedt shi sameat hifv | 2+3=5
Why is conservation and management of water resources essential in
India ? Explain any three steps taken to conserve water resources.

20. “HER ¥ YOI $N A fORme aivius SN 7 |7 W I I g
HIY | 5
SrraT
“dar W 0 FfY Faffas 39d, & 3R IS Te1 TR I FN 2 17 38w H
gfee i | 5

“Mediterranean agriculture is highly specialised commercial agriculture
in the world.” Support the statement.

OR
“Dairy farming is the most advanced, efficient and capital intensive type
of farming in the world.” Support the statement.

21. TER % feu T Tifas W@rAERE (I8 13 W), § 9iE Hiifos A& Hi A,
B, C, D 3T E ¥ fe@rn w2 | 39 yguH g SHert H @8/ 9

ST R 37 TE 19 3 I Wi T8 W@ren w fafe Ix5=5
A O W H e

B. 99@ ¥Hgl 9T

C. ARSI ga18 IoH

D. ofenfies g

E. UR-AESRE Womnt o R 1 wvH

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct
names on the lines drawn near them :

A. An area of ‘Dairy farming’
A major seaport
An international airport

An industrial region

= O QW

The terminal station of Trans-Siberian Railway



i
Tr: P e e g T % R, v e 21 & e w

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Q. No. 21 :

(21.1) HER 4 S0 PN < et T 7@ &7 1 9m ey |

(21.2) A4 % forel wh Y@ T ueH w1 AW fafE |

(21.3) Taeft & TS gaTs 9o &1 9 faRgu |

(21.4) T TR H T § T < -1 R ?

(21.5) UR-HTSHTEH W@HE < afgadft fR o we@ 1 am fafem | Ix5=5

(21.1) Name any one major area of dairy farming in the world.
(21.2) Name any one major sea port of Norway.

(21.3) Name an international airport in Chile.

(21.4) Which is the largest country in South America ?

(21.5) Name the western terminal station of Trans-Siberian Railway.

22. WRA o U T TSHITdeh W@I-AFRE (I8 15 W), ¥ =fafad # 9 fast ora
iifereh Sequn sl SUg<h gl | guIige 3 I a1 fafaw Ix5=5
(22.1) AHa fae g (A1.f9.9,) # w99 = @ aren T

(22.2) qfHEATg § TEwYUl BT T &

(22.3) Sfifssm H 309Td €I
(22.4) T TZA IWHISH 1 FEAT

(22.5) Y& T TS gATS Uo

(22.6) WERTZ U 10 faferm @ sifires o arer w&t
(22.7) A ¥ THE TG g9

(22.8) WAl 1 3WU( IcTCh TSI

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) with appropriate
symbols :

(22.1) The State with lowest level of Human Development Index (H.D.I.)
(22.2) An important coal mining area in Tamil Nadu

(22.3) A steel plant in Odisha

(22.4) The Headquarter of North Central Railway Zone

(22.5) An international airport in Punjab

(22.6) The city with more than 10 million population in Maharashtra
(22.7) A major sea port in Kerala

(22.8) The leading producer State of maize

64/5/2, 11 P.T.O.
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Fie:  FHECTRET 397 Fac GIRETEd ghgniaan & o/, J97 G&I7 22 & T T/
& | BT gia 797 57 B 3 |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 9RA % fhE TS # wa faehe gEeeh (M1.f9.9,) 998 %0 T H
227

(22.2) dfbeTg | fordmse @ &= &1 9 fafew |

(22.3) Htesh B fovq forelt T goama w9w o1 9 fafee |

(22.4) AT T ITHUSH I TEATAT HIH-AT § ?

(22.5) U9E T fed ST a8 uae ot Am fafa |

(22.6) TENTSE o fop wEX T 10 Taferam @ s1fees smaen 2 2

(22.7) T ° YW THE UG HH-AT ] ?

(22.8) WNd H HeAT & MUl IcqTgeh T ot 19 fafeaw | Ix5=5

(22.1) Which State of India has the lowest level of Human Development
Index (H.D.I.) ?

(22.2) Name the lignite mining area in Tamil Nadu.

(22.3) Name any one steel plant located in Karnataka.

(22.4) Which is the Headquarter of North Central Railway Zone ?

(22.5) Name the international airport located in Punjab.

(22.6) Which city of Maharashtra has more than 10 million population ?
(22.7)  Which is the major sea port in Kerala ?

(22.8) Name the leading producer State of maize in India.

641512 w2
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For question no. 21
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Outline Map of India (Political)
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